INVI	TATION FOR BID
RORY J. RESPICIO GENERAL MANAGER	ISSUING OFFICE: THE PORT AUTHORITY OF GUAM GOVERNMENT OF GUAM 1026 CABRAS HIGHWAY, SUITE 201, PITI, GUAM 96925
DATE ISSUED: 2 2 JUL 2020	BID INVITATION NO: <u>IFB/PAG-010-20</u>
BID FOR: MISCELLANEOUS TIRES AND BATTE	RIES FOR PORT VEHICLES AND HEAVY EQUIPMENT
SPECIFICATION: SEE BELOW	
DESTINATION: PORT AUTHORITY OF GUAN	1
REQUIRED DELIVERY DATE: 30 days from rec availability of funds. This is an indefinite quar	eipt of purchase order for a period of one (1) year upon the ntity bid.
INSTRUCTION TO BIDDERS:	
INDICATE WHETHER: INDIVIDUAL	PARTNERSHIP X CORPORATION
INCORPORATED IN: 1996	
a.m. Date: Tuesday, August 11, 2020 and sha	sealed to the issuing office above no later than (Time) 10:00 all be publicly opened. Bid submitted after the time and date ed General Terms and Conditions, and Sealed Bid Solicitation
price stated opposite the respective items list the bidder. In consideration to the expense of and other bids, and other considerations, the	h within the time specified, the articles and services at the ted on the schedule provided, unless otherwise specified by if the Government in opening, tabulating, and evaluating this undersigned agrees that this bid remain firm and irrevocable agree to supply any or all the items which prices are quoted.
NAME AND ADDRESS OF BIDDER: Triple J Express Tire & Lube, Inc. dba Triple J Commercial Tire Center	SIGNATURE AND TITLE OF PERSON AUTHORIZED TO SIGN THIS BID:
PO Box 6066	
Tamuning, Guam 96931	Jeffrey B. Jone President
AWARD: CONTRACT NO.: 1FB/PSG-010-20	
ITEM NO(S). AWARDED:	1.1 to 6.1 and 8.1 to 13.1
NAME AND ADDRESS OF CONTRACTOR:  Jeffrey B. Jones  PO Box 6066 Tamuning, GU 96931  SIGNATURE AND TITLE OF PERSON  AUTHORIZED TO SIGN THIS CONTRACT:	CONTRACTING OFFICER:
OPENATIONS MANNETR	10/16/2020

\*Basic\*

REQUIRED DELIVERY DATE:
30 days from receipt of Furchase order for a period of one (1) year upon the availability of funds.

Item No.	Description	QTY. UC		Unit Price	Price Extension
1.1	18.5 X 8.50-8 TIRE	10	EA	\$ <u>44.00</u>	\$_440.00
	SPECIFICATIONS: GOLF CART			BIDDING ON/F	REMARKS:
	6 PLY Rating (REF: NANCO N699) of Match OEM tires: Low profile for o	clearance o	on	Comply	
	Golf Carts, Summer Type Tires, Bia	is Constru	ction		
	Bidding on:				
	Manufacturer Duro				
	Model: HF273 6ply	-			
	Year: 2019				
	Place of Origir: Thailand				
	Date of Delivery: 45 days				
2.1	205/70 R16 TIRE	6	EA	\$ <u>141.00</u>	\$ 846.00
	SPECIFICATIONS:			BIDDING ON/F	REMARKS:
	2009 SUV-JEEF PATRIOT			Comply	<b>y</b>
	Bidding on:				
	Manufacturer: Dunlop				
	Model: Grandtrek				
	Year: 2019	<del></del>			
	Place of Origin: USA				
	Date of Delivery:45 days	<del></del>			
3.1	215/70R15 TUBELESS	4	EA	\$ <u>44.00</u>	<u>\$ 176.00</u>
	SPECIFICATIONS:			BIDDING ON/I	REMARKS:
	2015 TOYOTA TACOMA PICK-UP				
				Comp	ly
	Bidding on:  Manufacturer Triangle				
	Managara C.				
	Model: TR928				•
	Year: 2023	<del></del>			
	Place of Origir: China	<del></del>			
	Date of Delivery: 45 days				
4.1	225/70 R15 TUBELESS TIRE	4	EA	\$ <u>47.00</u>	\$ 188.00
	SPECIFICATIONS:			BIDDING ON/	REMARKS:
6	2009 FORD BANGER PICK-UP				
				Comp	oly
	Bidding on:				
	Manufacturer: Triangle				
	Model: TE301				
	Year: 2020				
	Place of Origin: China				
	Date of Delivery: 45 days				

IFB/PAG-010-20 Page 32 of 38

Item No.	Description	QTY.	UOM	Unit Price	Price Extension
5.1	LT245/75 R16 TUBELESS TIRE	4	EA	\$_76.00	\$304.00
	SPECIFICATIONS:			BIDDING ON/F	REMARKS:
	FORD VAN/F250 PICK UP			Con	nply
	Bidding on:				~
	Manufacturer: Omni	_			
	Model: Rivera GT10 10ply	•			
	Year: <u>2020</u>				
	Place of Origin <u>China</u>				
	Date of Delivery: 45 days	•			
6.1	LT245/75/R17 TIRE, ALL-TERRAIN	2	EA	\$_86.00	\$_172.00
	SPECIFICATIONS:			BIDDING ON/F	REMARKS:
	2010 FORD 650 DULLY			^ '	
				Compl	<b>y</b>
	Bidding on:				
	Manufacturer: Omni	-			
	Model: Renegade AT5 10ply Year: 2020				
	Place of Origin: China				
	Date of Delivery: 45 days				
	Date of Denvery.				
7.1	LT245/55/R18 TUBELESS,	8	EA	\$	\$
	ALL-SEASON				
	SPECIFICATIONS:			BIDDING ON/I	REMARKS:
	2016 FORD EXPLORER SUV			+N - D!	-1+
	INTERCEPTOR5			*No Bi	a*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delive-y:	-			
8.1	700 X 12 12-PEY TUBETYPE	4	EA	\$ <u>73.00</u>	\$ <u>292.00</u>
	TIRE, NON-DIRECTIONAL				
	SPECIFICATIONS:			BIDDING ON/	REMARKS:
	2008 HYSTER 5 TON FORK TRUCK				
				Comply	/
	Bidding on:				
	Manufacturer: Triangle				
	Model: Rockbuster Power 12ply	_			
	Year: 2020				
	Place of Orig n: China	-			
	Date of Delivery: 45 days				

em				Unit	Price	
0	Description (	QTY.	UOM	Price	Extension	
1	7.50 X 15 12-P <sub>-</sub> Y TUBETYPE TIRE, NON-DIRECTIONAL	4	EA	\$ <u>108.00</u>	\$_432.00	
	SPECIFICATIONS:			BIDDING ON/REMARKS:		
	2008 HYSTER 5-TON FORK TRUCK					
,				Comply	/	
	Bidding on:					
	Manufacturer: Triangle	_				
	Model: Rockbuster Power 12ply					
	Year: 2020					
	Place of Origin: China					
	Date of Delivery: 45 days					
				. 110.00	. 440.00	
.1	7.50 x 16 12-PLY TUBETYPE	4	EA	\$ <u>110.00</u>	\$ <u>440.00</u>	
	TIRE, NON-DIRECTIONAL					
	SPECIFICATIONS:			BIDDING ON/	REMARKS:	
	2016 DOOSAN 5-TON FORK LIFT			0		
				Comply		
	Bidding on:					
	Manufacturer: Triangle					
	Model: Top rust 12ply					
	Year: 2020					
	Place of Origin: <u>China</u>					
	Date of Delivery: 45 days					
.1	11.00 X 22.5 1 <del>6</del> -PLY	20	EA	\$ <u>193.00</u>	\$ 3,860.00	
	SPECIFICATIONS:	BIDDING ON/REMAR				
	2016 OTTAWA TRACTORS			2,120,1110		
	Pneumatic, 15 Ply, Load Rating G,					
	All Positions (Steer/Drive), Non Direction	onal		Comply		
	Tubeless, Drive Position Commercial Ra					
	Bidding on:					
	Manufacture: Triangle					
	Model: TR696A (Steer) & TR657 (I	- Orive)				
	Year: 2C20	,				
	Place of Origin: China					
	Date of Delivery: 45 days					
	Date of Delive y					
.1	12.00 X 20 28-PLY TUBETYPE TIRE	4	EA	\$ <u>450.00</u>	\$ <u>1,800.00</u>	
	SPECIFICATIONS:			BIDDING ON	REMARKS:	
	2017 HYUNDAI 20-TON FORK TRUCK					
	(for Forklift), All Positions (Steer/Drive	), Bias		•		
	Construction, Non Directional			Comp	ıy	
	Didding on:					
	Bidding on: Manufacturer: Triangle			***************************************		
	Model: Rockbuster Power 28ply					
	Year: 202C					
	Place of Origin: China					
	Date of Delivery: 2020					

tem No.	Description	QTY.	UOM	Unit Price	Price Extension
13.1	18.00R25 40 PLY TUBELESS	10	EA	\$ <u>1,749.00</u>	\$ <u>17,490.00</u>
,	SPECIFICATIONS: 2009 & 2016 HYSTER TOPLOADER Pneumatic, 49 PLY Rating, (REF: IND-4) o			BIDDING ON/REMARKS:  Comply	
	Equal, For All Position (Steer/Drive), Non Directional	i			
	Bidding on: Manufacture: Triangle				
	Model: <u>TL558S E4 3star(40ply rated</u> Year: 2020	)			
	Place of Origin: China				
	Date of Delive-y: 45 days				
4.1	GROUP 24 BATTERY 12V 75AMP Minimum 550 CCA	8	EA	\$	\$
	Terminal Typ≘: Auto Post (SAE)			BIDDING ON/R	EMARKS:
				*N	O BID*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
5.1	GROUP 58 BATTERY 12V 75AMP	8	B EA	\$	\$
	Minimum 550 CCA Terminal Type: Auto Post (SAE)			BIDDING ON/R	EMARKS:
	remmat type. Auto Fost (SAL)			*NO	
	Bidding on:				
	Manufacturer:				
	Model: Year:				
	Place of Origin:				
	Date of Delivery:				
l <b>6.1</b>	GROUP 35 BATTERY 12V 75AMP Minimum 55C CCA	1	.2 EA	\$	\$
	Terminal Type: Auto Post (SAE)			BIDDING ON/I	REMARKS:
	Terrimar Type: Auto Tost (57.42)				
				*NO	RM.
	Bidding on:				
	Manufacturer: Model:	•			
	Year:				
	Place of Origin:				
	Date of Delivery:				
	Date of Delivery:				

item				Unit	Price
No.	Description	QTY.	UOM	Price	Extension
17.1	GROUP 31 BATTERY 12V 75AMP Minimum 950 CCA	12	EA	\$	\$
	Terminal Type: Auto Post (SAE)			BIDDING OF	N/REMARKS:
				*	NO BID*
	Bidding on:				
	Manufacturer Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
18.1	GROUP 31 BATTERY 12V 75AMP Minimum 700 CCA	15	EA	\$	\$
	Terminal Type Threaded Stud			BIDDING OF	N/REMARKS:
				*N	O BID*
	Bidding on:				
	Manufacturer				
	Model:	<del>-</del>			
	Year:	<del></del>			
	Place of Origir:				
	Date of Deliv <del>≥</del> ry:	<u> </u>			
19.1	GROUP 8D BATTERY 12V	2	EA	\$	<u> </u>
	Minimum 1200 CCA			DIDDING OF	MI/DERAADUC.
	Terminal Type: Auto Post (SAE)			RIDDING OF	N/REMARKS:
				*N(	O BID*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:	<del>_</del>			
20.1	GROUP 4D BATTERY 12V	4	EA	\$	<u> </u>
	Minimum 950 CCA			RIDDING O	N/REMARKS:
	Terminal Type: Auto Post (SAE)			BIDDING C	id territory
				*N	O BID*
	Bidding on:				
	Manufacture:				
	Model:	_			
	Year:	<del></del>			
	Place of Origin:	_			
	Date of Delivery:				

Item No.	Description	QTY.	UOM	Price	Extension		
	12V BATTERY For: Electrica Golf Cart Terminal Type: UT; Wet Charge Type: Deep Cycle; 155 Ah @ 20hr Rate; Dimensions: Length-13 1/8" Width-7 1/16" (179mm), Height-11 3/8" (2		nm);	\$BIDDING	ON/REMARKS:		
	Bidding on:  Manufacturer:  Model:  Year:  Place of Origin:  Date of Delivery:  AL BID ITEMS: TIRE SERVICES				*NO BID*		
ltem No.	Description	QTY.	UOM	Unit Price	Price Extension		
22.1	VALVE STEMS RUBBER INDUSTRIAL			\$ No Charg			
23.1	TIRE DISPOSAL FEE  LT/PASSENGER VEHICLES  INDUSTRIAL VEHICLES			\$ <u>8.00</u> \$ <u>0.50 per l</u>	\$ <u>240.00</u> B \$ <u>5710.00</u>		
24.1	MOUNTING/CEMOUNTING, BALANCII ALIGNMENT LT/PASSENGER VEHICLES INDUSTRIAL WEHICLES	NG, &		\$ <u>8.00</u> \$ <u>20.00-25</u>	\$ 160.00 \$ 3,700.00		
*Notes:	Alignment Not Available. No Balancing for Industrial Vehicles*  TIRES TO FIT E.T.R.T.O. AND T.R.A. RIMS FOR ITEM NOS. 8.1; 9.1;10.1;11.1;12.1;13.1  TIRES MUST HAVE DOT TIRE IDENTIFICATION NUMBER FOR ITEM NOS. 2.1; 3.1; 4.1; 5.1; 6.1; 7.1						

- LT: LIGHT TRUCK OEM: CRIGINAL EQUIPMENT MANUFACTURER
- SAE: SCICIETY OF AUTOMOTIVE ENGINEERS
- SUV: SPORT UTILITIES VEHICLE

- T.R.A: TIRE AND RIM ASSOCIATION
- V: VOLTS

THESE SPECIFICATIONS HAVE BEEN DEVELOPED BY THE PORT AUTHORITY OF GUAM FLEET AND CRANE DIVISIONS.

## \*Alternate\*

**REQUIRED DELIVERY DATE:**30 days from receipt of purchase order for a period of one (1) year upon the availability of funds.

Item <u>No.</u>	Description	QTY. U	OM	Unit Price	Price Extension
1.1	18.5 X 8.50-8 TIRE	10	EA	\$	\$
	SPECIFICATIONS: GOLF CART			BIDDIN	IG ON/REMARKS:
	6 PLY Rating (REF: NANCO N699) of Match OEM tires: Low profile for Golf Carts, Summer Type Tires, Bia	learance	on	NO	D Bid for Alternate
	Bidding on:	is constru	iction		
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
2.1	205/70 R16 TIRE	6	EA	\$	<u> </u>
	SPECIFICATIONS:			BIDDIN	IG ON/REMARKS:
	2009 SUV-JEEP PATRIOT				No Bid for Alternate
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
3.1	215/70R15 TUBELESS	4	EA	\$ 46.0	<u>0</u> \$ 184.00
	SPECIFICATIONS:			BIDDIN	IG ON/REMARKS:
	2015 TOYOTA TACOMA PICK-UP				
					Comply
	Bidding on:				
	Manufacturer: Omni			<u></u>	
	Model: RPX800				
	Year: 2020 China				
	Place of Origin: China				
	Date of Delivery: 45 days				
4.1	225/70 R15 TUBELESS TIRE	4	EA	\$ <u>54.0</u>	<u>\$ 216.00</u>
	SPECIFICATIONS:			BIDDI	NG ON/REMARKS:
	2009 FORD RANGER PICK-UP				
					Comply
	Bidding on:				
	Manufacturer: Omni				
	Model: Argonite RV4				
	Year: 2020				
	Place of Origin: China				
	Date of Delivery: 45 days				

IFB/PAG-010-20 Page 32 of 38

Item No.	Description	QTY.	UOM	Unit Price	Price Extension
5.1	LT245/75 R16 TUBELESS TIRE	4	EA	\$ 89.00	\$356.00
	SPECIFICATIONS:			BIDDING ON/R	FMARKS.
	FORD VAN/F250 PICK UP				
	•			Com	ply ————————————————————————————————————
	Bidding on:				
	Manufacturer: Triangle	<del></del>			
	Model: TR246 10ply				
	Year: <u>2020</u>				
	Place of Origin: China	-			
	Date of Delivery: 45 days	-			
6.1	LT245/75/R17 TIRE, ALL-TERRAIN	2	EA	\$	\$
	SPECIFICATIONS:			BIDDING ON/R	EMARKS:
	2010 FORD 650 DULLY			No Bid	for Alternate
	nt deline and				
	Bidding on:				
	Manufacturer: Model:				
	Year:				
	Place of Origin:	-			
	Date of Delivery:				
7.1	LT245/55/R18 TUBELESS,	8	EA	\$	<u> </u>
	ALL-SEASON				
	SPECIFICATIONS:			BIDDING ON/R	EMARKS:
	2016 FORD EXPLORER SUV			*** D'.	<b>.</b>
	INTERCEPTORS			*No Bid	
	Bidding on:			***************************************	
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:	-			
	Date of Delivery:	-			
8.1	700 X 12 12-PLY TUBETYPE	4	EA	\$ <u>166.00</u>	<u>\$ 664.00</u>
	TIRE, NON-DIRECTIONAL				
	SPECIFICATIONS:			BIDDING ON/R	EMARKS:
	2008 HYSTER 5 TON FORK TRUCK				
				Comply	
	Bidding on:			,	
	Manufacturer: EBT				
	Model: Tuff Dawg 12ply	_			
	Year:2020	-			
	Place of Origin: Sri Lanka	_			
	Date of Delivery: 45 days				

ltem				Unit	Price
No.	Description	QTY.	UOM	Price	Extension
9.1	7.50 X 15 12-PLY TUBETYPE TIRE, NON-DIRECTIONAL	4	EA	\$ 245.00	\$ 980.00
`	SPECIFICATIONS: 2008 HYSTER 5-TON FORK TRUCK			BIDDING ON/F	
	Bidding on:  Manufacturer: EBT  Model: Tuff Dawg 12ply  Year: 2020  Place of Origin: Sri Lanka  Date of Delivery: 45 days	  -			
10.1	7.50 x 16 12-PLY TUBETYPE TIRE, NON-DIRECTIONAL	4	EA	\$ <u>234.00</u>	\$ <u>936.00</u>
	SPECIFICATIONS: 2016 DOOSAN 5-TON FORK LIFT  Bidding on: Manufacturer: EBT			BIDDING ON/F	REMARKS:
	Model: Tuff Dawg 12ply	<del></del>			
	Year: <u>2020</u> Place of Origin: <u>Sri Lanka</u> Date of Delivery: <u>45 days</u>	-			
11.1	11.00 X 22.5 16-PLY	20	EA	\$	\$
	SPECIFICATIONS: 2016 OTTAWA TRACTORS Pneumatic, 16 Ply, Load Rating G, All Positions (Steer/Drive), Non Direc Tubeless, Drive Position Commercial	No Bid for Alternate			
	Bidding on:  Manufacturer:  Model:  Year:  Place of Origin:  Date of Delivery:	<del>-</del>			
12.1	12.00 X 20 28-PLY TUBETYPE TIRE	4	EA	\$ <u>1,106.00</u>	<u>\$4,424.00</u>
	SPECIFICATIONS:  2017 HYUNDAI 20-TON FORK TRUCK (for Forklift), All Positions (Steer/Driv Construction, Non Directional  Bidding on: Manufacturer: BKT Model: Power Trax 28ply			Compl	
	Year: 2020 Place of Origin: India Date of Delivery: 2020	<del>-</del> -			

item No.	Description	OTY.	UOM	Unit Price	Price Extension
13.1	18.00R25 40 PLY TUBELESS	10	EA	\$	\$
	SPECIFICATIONS:			BIDDING ON	/REMARKS:
	2009 & 2016 HYSTER TOPLOADER			No.	Bid for Alternate
	Pneumatic, 40 PLY Rating, (REF: IND-4) o			INU	DIG TO AIGHIGE
	Equal, For All Position (Steer/Drive), Nor Directional	•			
	Bidding on:				
	Manufacturer:				
	Model:				S.
	Year:				
	Place of Origin:				
	Date of Delivery:				
14.1	GROUP 24 BATTERY 12V 75AMP	8	EA	\$	\$
	Minimum 550 CCA			DIDDING ON	I/REMARKS:
	Terminal Type: Auto Post (SAE)			BIDDING ON	I/REIVIARNS.
				*	*NO BID*
	Bidding on:			4	
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
15.1	GROUP 58 BATTERY 12V 75AMP	8	B EA	\$	\$
	Minimum 550 CCA				
	Terminal Type: Auto Post (SAE)			BIDDING OF	N/REMARKS:
				* <u>N</u>	O BID*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				i
	Date of Delivery:				
16.1	GROUP 35 BATTERY 12V 75AMP	1	L2 EA	\$	\$
	Minimum 550 CCA			ninnina A	M/DERAADVC.
	Terminal Type: Auto Post (SAE)			BIDDING O	N/REMARKS:
				*N	O BID*
	Bidding on:				
	Manufacturer:	- -			
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				

Item No.	Description	QTY.	UOM	Unit Price	Price Extension
17.1	GROUP 31 BATTERY 12V 75AMP Minimum 950 CCA	12	EA	\$	\$
	Terminal Type: Auto Post (SAE)			BIDDING ON	I/REMARKS:
					NO BID*
	Bidding on: Manufacturer: Model:	<del></del> -			
	Year:	···			
	Place of Origin:	_			
	Date of Delivery:	<del></del>			
18.1	GROUP 31 BATTERY 12V 75AMP Minimum 700 CCA	15	EA	\$	\$
	Terminal Type: Threaded Stud			BIDDING ON	I/REMARKS:
				*N(	O BID*
	Bidding on: Manufacturer:				
	Model:				
	Year:				
	Place of Origin:				
	Date of Delivery:				
19.1	GROUP 8D BATTERY 12V	2	EA	\$	\$
	Minimum 1200 CCA				
	Terminal Type: Auto Post (SAE)			BIDDING ON	I/REMARKS:
				*NC	D BID*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year:	_			
	Place of Origin:				
	Date of Delivery:				
20.1	GROUP 4D BATTERY 12V	4	EA	\$	\$
	Minimum 950 CCA Terminal Type: Auto Post (SAE)			BIDDING ON	I/REMARKS:
	rerminal type. Auto Post (SAL)				
				-11/	O BID*
	Bidding on:				
	Manufacturer:				
	Model:				
	Year: Place of Origin:				
	Date of Delivery:	<del></del>			

item 				-	Price .	
No.	Description	QTY. UON	<u>п Р</u>	rice	Extension	
21.1	12V BATTERY	12 E/	A S		\$	
	For: Electrical Golf Cart		• •			
	Terminal Type: UT; Wet Charge					
	Type: Deep Cycle; 155 Ah					
	@ 20hr Rate; Dimensions: Length-13 1/8" (333mm);		;	<b>BIDDING ON/REMARKS:</b>		
	Width-7 1/16" (179mm), Height-11 3/	/8" (289mm);				
	Bidding on:			*NO	*NO BID*	
	Manufacturer:					
	Model:					
	Year:					
	Place of Origin:					
	Date of Delivery:					
	Date of Delivery.	<b>-</b>				
OPTION	NAL BID ITEMS: TIRE SERVICES					
ltem			U	nit	Price	
No.	Description	QTY. UOM	1 P	rice	Extension	
22.1	VALVE STEMS					
	RUBBER		\$	No Charge	\$	
	INDUCTOIAL		ė	No Charge	\$	
	INDUSTRIAL		Ą,	110 Chargo	, Y	
23.1	TIRE DISPOSAL FEE					
	LT/PASSENGER VEHICLES		\$	8.00	\$ 240.00	
	EI/I FISSENCE VEHICLES					
	INDUSTRIAL VEHICLES		\$	0.50 per LB	\$ <u>5710.00</u>	
24.1	MOUNTING/DEMOUNTING, BALANCI	NG. &				
	ALIGNMENT	ŕ				
	T /DASSENGED VEHICLES		\$	8.00	s 160.00	
	LT/PASSENGER VEHICLES		Þ	0.00	, P	
	INDUSTRIAL VEHICLES		\$	20.00- 250.00	\$_3,700.00	
*Notes	: Alignment Not Available. No Balar	ncing for Indu	strial	Vehicles*		
NOTES	•		va 200A			
140 LE2	<u>:</u> ● TIRES TO FIT E.T.R.T.O. AND T.R.A. R	IMS FOR ITEM	NOS.	8.1; 9.1:10.1:11	.1;12.1;13.1	
Ì	TIRES MUST HAVE DOT TIRE IDENTIF	ICATION NUM	BER F	OR ITEM NOS. 2	.1; 3.1; 4.1; 5.1; 6.1;	
	BATTEDIES ARE ALL LEAD-ACID TYPE					

- NOS. 17.1;18.1;19.1;20.1;21.1;22.1;23.1;24.1
  - **▲** DEFINITIONS:
  - **AH: AMP-HOURS**
  - **AMP: AMPERE**
  - CCA: COLD CRANKING AMPS
  - E.T.R.T.O: EUROPEAN TYRE AND TECHNICAL ORGANIZATION
  - LT: LIGHT TRUCK
  - **OEM: ORIGINAL EQUIPMENT MANUFACTURER**
  - SAE: SOCIETY OF AUTOMOTIVE ENGINEERS
  - SUV: SPORT UTILITIES VEHICLE

- T.R.A: TIRE AND RIM ASSOCIATION
- V: VOLTS

THESE SPECIFICATIONS HAVE BEEN DEVELOPED BY THE PORT AUTHORITY OF GUAM FLEET AND CRANE DIVISIONS.